

Norihiro KAMIDE

**AUTOMATING AND COMPUTING
PARACONSISTENT REASONING:
CONTRACTION-FREE, RESOLUTION
AND TYPE SYSTEMS**

A b s t r a c t. Firstly, a contraction-free sequent system $G4np$ for Nelson's paraconsistent 4-valued logic $N4$ is introduced by modifying and extending a contraction-free system $G4ip$ for intuitionistic propositional logic. The structural rule elimination theorem for $G4np$ can be shown by combining Dyckhoff and Negri's result for $G4ip$ and an existing embedding result for $N4$. Secondly, a resolution system Rnp for $N4$ is introduced by modifying an intuitionistic resolution system Rip , which is originally introduced by Mints and modified by Troelstra and Schwichtenberg. The equivalence between Rnp and $G4np$ can be shown. Thirdly, a typed λ -calculus for $N4$ is introduced based on Prawitz's natural deduction system for $N4$ via the Curry-Howard correspondence. The strong normalization theorem of this calculus can be proved by using Joachimski and Matthes' proof method for intuitionistic typed λ -calculi with premutative conversions.

1. Introduction

1.1 Nelson’s paraconsistent logic

Nelson’s paraconsistent 4-valued logic $N4$ (or equivalently called N^-) [1] is a paraconsistent variant of Nelson’s constructive logic N with strong negation [11], and is also known as a conservative extension of positive intuitionistic logic. The logic $N4$ and its versions have been studied by a number of researchers (see e.g. [5, 12, 13, 14, 24]). It is known that $N4$ and its versions and extensions can appropriately deal with inconsistency-tolerant reasoning [24], reasoning with negative information in logic programming [14], paraconsistent logic programming with inexact predicates [23], and non-monotonic reasoning with answer set programming [15]. For these useful applications, an efficient and simple deduction system is desired as a basis of automated reasoning and computation.

1.2 Sequent systems

A simple cut-free sequent system (called here $Gn4$) for $N4$, which is a natural extension of the positive fragment of Gentzen’s system LJ for intuitionistic logic, was introduced and studied by López-Escobar [8] and later by Pearce [14] and Wansing [24]. This system is very intuitive and simple, but it is not enough to formalize a basis of automated theorem proving, because the bottom-up proof search procedure based on $Gn4$ is not very efficient. The first and second aims of the present paper are to give a proof-theoretic foundation for $N4$ -based automated theorem proving in two more efficient frameworks: a contraction-free sequent system and a resolution system.

It is known that there are many cut-free sequent systems for intuitionistic propositional logic, such as LJ and its variants $G1ip$, $G2ip$, $G3ip$, $G4ip$ and $G5ip$.¹ In particular, the contraction-free system $G4ip$ has the useful feature that certain bottom-up proof search terminates without any loop-detection, and hence $G4ip$ is known as a convenient basis for automated theorem proving. For this reason, some versions of $G4ip$ have been introduced and studied by many logicians (see [2, 21] for a historical overview

¹The names $G1ip$, $G2ip$, $G3ip$, $G4ip$ and $G5ip$ are from [21].

of G4ip). A direct simple proof of the structural rule elimination theorem (i.e. the theorem for the admissibility of cut and contraction) for G4ip was proved by Dyckhoff and Negri [3], and this result was extended by the same authors to some systems with non-logical axioms for the theories of apartness and order [4].

1.3 Natural deduction systems

As mentioned in [7], there are various natural deduction systems for N4: Prawitz's system [16], Wansing's typed λ -calculus [24], an extension of a system for the logic FDE of first-degree entailment, which was mentioned by Priest [17], an extension of Tamminga and Tanaka's system for FDE [20], a special case of Schroeder-Heister's system with general elimination rules [19], and some extensions of Negri and von Plato's systems for (positive) intuitionistic logic [10]. Some weak normalization results for some such systems were presented in [7]. The open problem of showing the strong normalization theorem of a typed λ -calculus for N4 was suggested by Wansing in Chapter 8 in [24].

The third aim of the present paper is to solve the problem of Wansing in order to obtain a natural computational interpretation for N4. This problem is solved by using the simple proof method by Joachimski and Matthes [6]. It is known that the strong normalization theorem for some typed λ -calculi with disjunction types is somewhat complex to prove because of the reduction rule of permutative conversions. Joachimski and Matthes settled such a complexity problem by obtaining a considerably simple and short proof of the strong normalization theorem for some typed λ -calculi with permutative conversions.

1.4 The contents of this paper

In Section 2, a contraction-free system G4np for (propositional) N4 is introduced by extending the positive fragment of G4ip, and the structural rule elimination theorem for G4np is shown by using an existing embedding result for N4 studied by Vorob'ev [22], Gurevich [5] and Rautenberg [18], and Dyckhoff and Negri's result for G4ip [3]. The equivalence between

$G4np$ and $Gn4$ is also derived using the structural rule elimination theorem for $G4np$. Since the result presented is also easily adapted to the multiple succedent version like the system $G4ip'$ for intuitionistic logic [3], such a result is omitted here. The present result may also be extended to some systems with non-logical axioms like the systems discussed in [4].

In Section 3, a resolution system Rnp for $N4$ is introduced by modifying an intuitionistic resolution system Rip for intuitionistic propositional logic, and the equivalence between Rnp and an auxiliary system $G5np$ is proved by using Troelstra and Schwichtenberg's method [21]. The system Rip was introduced by Troelstra and Schwichtenberg, and as mentioned in [21], it is regarded as a modification of Mints' original system RIp [9]. The system $G5np$ presented here is regarded as a modified extension of Troelstra and Schwichtenberg's system $G5ip$ for intuitionistic propositional logic.

In Section 4, a typed λ -calculus for $N4$ is introduced based on Prawitz's natural deduction system for $N4$ via the Curry-Howard correspondence, and Joachimski and Matthes' method of proving strong normalization is simply adapted to this calculus.

1.5 Preliminaries

Prior to the detailed discussion, the language and basic notations used in this paper are introduced below. The usual propositional language with the strong negation connective \sim and without falsum and truth constants is used in this paper. Greek lower-case letters $\alpha, \beta, \gamma, \dots$ are used to denote formulas. Greek capital letters Γ, Δ, \dots are used to represent finite (possibly empty) *multisets* of formulas. A *sequent* is an expression of the form $\Gamma \Rightarrow \gamma$. If a sequent S is provable in a system L , then such a fact is denoted as $L \vdash S$.

2. Contraction-free system

2.1 G4np

Definition 2.1. [G4np] Let p be an arbitrary propositional variable. The initial sequents of G4np are of the form:

$$p, \Gamma \Rightarrow p \quad \sim p, \Gamma \Rightarrow \sim p.$$

The inference rules of G4np are of the form:

$$\begin{array}{c} \frac{\alpha, \beta, \Gamma \Rightarrow \gamma}{\alpha \wedge \beta, \Gamma \Rightarrow \gamma} (\wedge\text{left}) \quad \frac{\Gamma \Rightarrow \alpha \quad \Gamma \Rightarrow \beta}{\Gamma \Rightarrow \alpha \wedge \beta} (\wedge\text{right}) \\ \frac{\alpha, \Gamma \Rightarrow \gamma \quad \beta, \Gamma \Rightarrow \gamma}{\alpha \vee \beta, \Gamma \Rightarrow \gamma} (\vee\text{left}) \quad \frac{\Gamma \Rightarrow \alpha}{\Gamma \Rightarrow \alpha \vee \beta} (\vee\text{right1}) \quad \frac{\Gamma \Rightarrow \beta}{\Gamma \Rightarrow \alpha \vee \beta} (\vee\text{right2}) \\ \frac{p, \beta, \Gamma \Rightarrow \gamma}{p, p \rightarrow \beta, \Gamma \Rightarrow \gamma} (\rightarrow\text{left0}) \quad \frac{\sim p, \beta, \Gamma \Rightarrow \gamma}{\sim p, \sim p \rightarrow \beta, \Gamma \Rightarrow \gamma} (\sim\rightarrow\text{left0}) \\ \frac{\alpha_1 \rightarrow (\alpha_2 \rightarrow \beta), \Gamma \Rightarrow \gamma}{(\alpha_1 \wedge \alpha_2) \rightarrow \beta, \Gamma \Rightarrow \gamma} (\wedge\rightarrow\text{left}) \quad \frac{\alpha_1 \rightarrow \beta, \alpha_2 \rightarrow \beta, \Gamma \Rightarrow \gamma}{(\alpha_1 \vee \alpha_2) \rightarrow \beta, \Gamma \Rightarrow \gamma} (\vee\rightarrow\text{left}) \\ \frac{\alpha_1, \alpha_2 \rightarrow \beta, \Gamma \Rightarrow \alpha_2 \quad \beta, \Gamma \Rightarrow \gamma}{(\alpha_1 \rightarrow \alpha_2) \rightarrow \beta, \Gamma \Rightarrow \gamma} (\rightarrow\rightarrow\text{left}) \quad \frac{\sim \alpha_1 \rightarrow \beta, \sim \alpha_2 \rightarrow \beta, \Gamma \Rightarrow \gamma}{\sim(\alpha_1 \wedge \alpha_2) \rightarrow \beta, \Gamma \Rightarrow \gamma} (\sim \wedge \rightarrow\text{left}) \\ \frac{\sim \alpha_1 \rightarrow (\sim \alpha_2 \rightarrow \beta), \Gamma \Rightarrow \gamma}{\sim(\alpha_1 \vee \alpha_2) \rightarrow \beta, \Gamma \Rightarrow \gamma} (\sim \vee \rightarrow\text{left}) \quad \frac{\alpha_1 \rightarrow (\sim \alpha_2 \rightarrow \beta), \Gamma \Rightarrow \gamma}{\sim(\alpha_1 \rightarrow \alpha_2) \rightarrow \beta, \Gamma \Rightarrow \gamma} (\sim\rightarrow\rightarrow\text{left}) \\ \frac{\alpha, \Gamma \Rightarrow \beta}{\Gamma \Rightarrow \alpha \rightarrow \beta} (\rightarrow\text{right}) \quad \frac{\alpha, \Gamma \Rightarrow \gamma}{\sim \sim \alpha, \Gamma \Rightarrow \gamma} (\sim\text{left}) \quad \frac{\Gamma \Rightarrow \alpha}{\Gamma \Rightarrow \sim \sim \alpha} (\sim\text{right}) \\ \frac{\sim \alpha, \Gamma \Rightarrow \gamma \quad \sim \beta, \Gamma \Rightarrow \gamma}{\sim(\alpha \wedge \beta), \Gamma \Rightarrow \gamma} (\sim \wedge \text{left}) \\ \frac{\Gamma \Rightarrow \sim \alpha}{\Gamma \Rightarrow \sim(\alpha \wedge \beta)} (\sim \wedge \text{right1}) \quad \frac{\Gamma \Rightarrow \sim \beta}{\Gamma \Rightarrow \sim(\alpha \wedge \beta)} (\sim \wedge \text{right2}) \\ \frac{\sim \alpha, \sim \beta, \Gamma \Rightarrow \gamma}{\sim(\alpha \vee \beta), \Gamma \Rightarrow \gamma} (\sim \vee \text{left}) \quad \frac{\Gamma \Rightarrow \sim \alpha \quad \Gamma \Rightarrow \sim \beta}{\Gamma \Rightarrow \sim(\alpha \vee \beta)} (\sim \vee \text{right}) \\ \frac{\alpha, \sim \beta, \Gamma \Rightarrow \gamma}{\sim(\alpha \rightarrow \beta), \Gamma \Rightarrow \gamma} (\sim\rightarrow\text{left}) \quad \frac{\Gamma \Rightarrow \alpha \quad \Gamma \Rightarrow \sim \beta}{\Gamma \Rightarrow \sim(\alpha \rightarrow \beta)} (\sim\rightarrow\text{right}). \end{array}$$

The \sim -free part of G4np is called here G4ip[⊥], which is the ⊥-free fragment of G4ip.²

Roughly speaking, the rules ($\rightarrow\text{left0}$), ($\sim\rightarrow\text{left0}$), ($\wedge\rightarrow\text{left}$), ($\vee\rightarrow\text{left}$), ($\rightarrow\rightarrow\text{left}$), ($\sim \wedge \rightarrow\text{left}$), ($\sim \vee \rightarrow\text{left}$) and ($\sim\rightarrow\rightarrow\text{left}$) can be regarded as some divided versions of the rule:

$$\frac{\alpha \rightarrow \beta, \Gamma \Rightarrow \alpha \quad \beta, \Gamma \Rightarrow \gamma}{\alpha \rightarrow \beta, \Gamma \Rightarrow \gamma},$$

²The name G4ip is from [21]. For a historical overview of G4ip, see [2, 21].

where α is divided into $p, \sim p, \alpha_1 \wedge \alpha_2, \alpha_1 \vee \alpha_2, \alpha_1 \rightarrow \alpha_2, \sim(\alpha_1 \wedge \alpha_2), \sim(\alpha_1 \vee \alpha_2)$ and $\sim(\alpha_1 \rightarrow \alpha_2)$. In the rule just displayed above, the principal formula $\alpha \rightarrow \beta$ appears twice, i.e. in one of the upper sequents and in the lower sequent. Such occurrences of $\alpha \rightarrow \beta$ derive some inefficient proof search procedures with *loops*. Since G4np is loop-free, it is regarded as efficient.

2.2 Admissibility of structural rules

Definition 2.2. [Structural rule] The following structural rules are called *cut*, *contraction* and *weakening*, respectively:

$$\frac{\Gamma \Rightarrow \alpha \quad \alpha, \Delta \Rightarrow \gamma}{\Gamma, \Delta \Rightarrow \gamma} \text{ (cut)} \quad \frac{\alpha, \alpha, \Gamma \Rightarrow \gamma}{\alpha, \Gamma \Rightarrow \gamma} \text{ (co)} \quad \frac{\Gamma \Rightarrow \gamma}{\alpha, \Gamma \Rightarrow \gamma} \text{ (we)}.$$

In order to prove the structural rule elimination theorem for G4np, we give an embedding f of G4np into G4ip[⊥], which was studied in [5, 18, 22].

Definition 2.3. We fix a set Φ of propositional variables, used as a component of the language using \sim , and define the set $\Phi' := \{p' \mid p \in \Phi\}$ of propositional variables. The language \mathcal{L}^\sim is defined by using $\Phi, \rightarrow, \wedge, \vee$ and \sim . The language \mathcal{L} is obtained from \mathcal{L}^\sim by adding Φ' and by deleting \sim .

A mapping f from \mathcal{L}^\sim to \mathcal{L} is defined as follows.

1. $f(p) := p$ and $f(\sim p) := p' \in \Phi'$ for any $p \in \Phi$,
2. $f(\alpha \circ \beta) := f(\alpha) \circ f(\beta)$ where $\circ \in \{\rightarrow, \wedge, \vee\}$,
3. $f(\sim \sim \alpha) := f(\alpha)$,
4. $f(\sim(\alpha \rightarrow \beta)) := f(\alpha) \wedge f(\sim \beta)$,
5. $f(\sim(\alpha \wedge \beta)) := f(\sim \alpha) \vee f(\sim \beta)$,
6. $f(\sim(\alpha \vee \beta)) := f(\sim \alpha) \wedge f(\sim \beta)$.

An expression $f(\Gamma)$ denotes the result of replacing every occurrence of a formula α in Γ by an occurrence of $f(\alpha)$.

We can easily prove:

Lemma 2.4 (Key lemma). *Let Γ be a multiset of formulas in \mathcal{L}^\sim , γ be a formula in \mathcal{L}^\sim , R be the set $\{\text{(cut)}, \text{(co)}, \text{(we)}\}$, and f be the mapping defined in Definition 2.3.*

- (1) If $G4np + R \vdash \Gamma \Rightarrow \gamma$, then $G4ip^\perp + R \vdash f(\Gamma) \Rightarrow f(\gamma)$.
(2) If $G4ip^\perp \vdash f(\Gamma) \Rightarrow f(\gamma)$, then $G4np \vdash \Gamma \Rightarrow \gamma$.

Using Lemma 2.4, we can prove:

Theorem 2.5 (Structural rule elimination theorem for $G4np$). *The rules (cut), (co) and (we) are admissible in $G4np$.*

Proof. Suppose $G4np + \{(\text{cut}), (\text{co}), (\text{we})\} \vdash \Gamma \Rightarrow \gamma$. Then, we have $G4ip^\perp + \{(\text{cut}), (\text{co}), (\text{we})\} \vdash f(\Gamma) \Rightarrow f(\gamma)$ by Lemma 2.4 (1), and hence $G4ip^\perp \vdash f(\Gamma) \Rightarrow f(\gamma)$ by the structural rule elimination theorem for $G4ip^\perp$, which was directly proved by Dyckhoff and Negri [3].³ By Lemma 2.4 (2), we obtain the required fact: $G4np \vdash \Gamma \Rightarrow \gamma$. \square

2.3 Equivalence between systems

We have introduced a structural rule free system $G4np$, but we have not yet shown that $G4np$ is a system for $N4$. We then show the equivalence between $G4np$ and the cut-free system called here $Gn4$ which was introduced and discussed in [8, 14, 24].

Definition 2.6. [$Gn4$ [8, 14, 24]] The sequent system $Gn4$ for $N4$ is obtained from $G4np$ by deleting the initial sequents and the rules (\rightarrow left0), ($\sim \rightarrow$ left0), ($\wedge \rightarrow$ left), ($\vee \rightarrow$ left), ($\rightarrow \rightarrow$ left), ($\sim \wedge \rightarrow$ left), ($\sim \vee \rightarrow$ left) and ($\sim \rightarrow \rightarrow$ left), and by adding the initial sequents of the form $\alpha \Rightarrow \alpha$, the rules (cut), (co), (we) and the rule of the form:

$$\frac{\Gamma \Rightarrow \alpha \quad \beta, \Gamma \Rightarrow \gamma}{\alpha \rightarrow \beta, \Gamma \Rightarrow \gamma} (\rightarrow \text{left}).$$

Then we can prove:

Theorem 2.7 (Equivalence between $Gn4$ and $G4np$). *For any sequent S , S is provable in $G4np$ if and only if it is provable in $Gn4$.*

Proof. (\implies): We can straightforwardly prove that if a sequent S is provable in $G4np$ then it is provable in $Gn4$. This is proved by induction

³Strictly speaking, it is shown in [3] that (cut), (co) and (we) are admissible in $G4ip$. By this fact and the conservativity w.r.t. \perp , the same fact holds for $G4ip^\perp$.

on the proof P of S in $G4np$. We distinguish the cases according to the last inference in P . We only illustrate the case that the last inference in P is of the form:

$$\frac{\alpha_1, \alpha_2 \rightarrow \beta, \Gamma \Rightarrow \alpha_2 \quad \beta, \Gamma \Rightarrow \gamma}{(\alpha_1 \rightarrow \alpha_2) \rightarrow \beta, \Gamma \Rightarrow \gamma} (\rightarrow\text{left}).$$

By the hypothesis of induction, both $\alpha_1, \alpha_2 \rightarrow \beta, \Gamma \Rightarrow \alpha_2$ and $\beta, \Gamma \Rightarrow \gamma$ are provable in $Gn4$. Then, we have the required proof:

$$\frac{\frac{\frac{\alpha_2 \Rightarrow \alpha_2}{\alpha_1, \alpha_2 \Rightarrow \alpha_2} \text{ (we)}}{\alpha_2 \Rightarrow \alpha_1 \rightarrow \alpha_2} \quad \frac{\beta \Rightarrow \beta}{\beta, \alpha_2 \Rightarrow \beta} \text{ (we)}}{\frac{(\alpha_1 \rightarrow \alpha_2) \rightarrow \beta, \alpha_2 \Rightarrow \beta}{(\alpha_1 \rightarrow \alpha_2) \rightarrow \beta \Rightarrow \alpha_2 \rightarrow \beta} \quad \frac{\alpha_1, \alpha_2 \rightarrow \beta, \Gamma \Rightarrow \alpha_2}{\alpha_2 \rightarrow \beta, \Gamma \Rightarrow \alpha_1 \rightarrow \alpha_2}}{\frac{(\alpha_1 \rightarrow \alpha_2) \rightarrow \beta, \Gamma \Rightarrow \alpha_1 \rightarrow \alpha_2}{(\alpha_1 \rightarrow \alpha_2) \rightarrow \beta, (\alpha_1 \rightarrow \alpha_2) \rightarrow \beta, \Gamma \Rightarrow \gamma} \text{ (cut)}} \frac{\beta, \Gamma \Rightarrow \gamma}{\beta, (\alpha_1 \rightarrow \alpha_2) \rightarrow \beta, \Gamma \Rightarrow \gamma} \text{ (we)}$$

$$\frac{(\alpha_1 \rightarrow \alpha_2) \rightarrow \beta, (\alpha_1 \rightarrow \alpha_2) \rightarrow \beta, \Gamma \Rightarrow \gamma}{(\alpha_1 \rightarrow \alpha_2) \rightarrow \beta, \Gamma \Rightarrow \gamma} \text{ (co)}.$$

(\Leftarrow): We prove that if a sequent S is provable in $Gn4$ then it is provable in $G4np$. This is proved by induction on the proof P of S in $Gn4$. We distinguish the cases according to the last inference of P . We show some cases. The cases that the last inference of P is (cut), (co) or (we) can be shown by Theorem 2.5. The case that the last inference of P is (\rightarrow left) can be proved using the fact that (\rightarrow left) is admissible in $G4np$. This fact can be shown in the same way as the proof of Theorem 2.5: we use the result by Dyckhoff and Negri [3]⁴ that (\rightarrow left) is admissible in $G4ip$, and prove a similar lemma as Lemma 2.4 with respect to (\rightarrow left) using the embedding f of Definition 2.3. \square

3. Resolution system

3.1 Rnp

For the multiset with multiplicity one which is obtained from a multiset Γ , we write (Γ) , i.e. the multiset (Γ) contains the formulas of Γ with multiplicity one. For example, if Γ is the multiset $\{\alpha, \alpha, \beta\}$, then (Γ) is the multiset $\{\alpha, \beta\}$.

⁴Lemma 4.1 in page 1503 in [3].

Definition 3.1. [Intuitionistic clause] A formula is called a *literal* if it is an atomic formula or a negated atomic formula. A sequent is called an *intuitionistic clause* if it is one of the following forms:

$$(P \rightarrow Q) \Rightarrow R, \quad P \Rightarrow (Q \vee R), \quad P_1, \dots, P_n \Rightarrow Q$$

where P, Q, R, P_1, \dots, P_n represent literals, and n can be 0.

Definition 3.2. [Rnp] Let P, Q, R, S be literals and all the sequents of Rnp be intuitionistic clauses.

The axioms of Rnp are of the form:

$$P, \Delta \Rightarrow P.$$

The inference rules of Rnp are of the form:

$$\frac{\Gamma \Rightarrow P \quad P, \Delta \Rightarrow Q}{(\Gamma, \Delta) \Rightarrow Q} \text{ (resol)}$$

$$\frac{P \Rightarrow Q \vee R \quad \Gamma \Rightarrow P \quad Q, \Delta \Rightarrow S \quad R, \Sigma \Rightarrow S}{(\Gamma, \Delta, \Sigma) \Rightarrow S} \text{ (\veeresol)}$$

$$\frac{(P \rightarrow Q) \Rightarrow R \quad [P], \Delta \Rightarrow Q}{\Delta \Rightarrow R} \text{ (\rightarrow resol)}$$

where $[P]$ represents P or the empty multiset.

It is remarked that Rnp is a modification of the system Rip (for intuitionistic logic) introduced in [21]. In Rip, the formulas P, Q, R, S , which are used as literals in Rnp, are atomic formulas. As mentioned in [21], Rip was based on Mints' framework in [9]. It is also remarked that the axioms in Rip are of the forms $P \Rightarrow P$ and $\perp \Rightarrow P$, but the axioms in Rnp are of the form $P, \Delta \Rightarrow P$.

3.2 G5np

Definition 3.3. [G5np] The initial sequents of G5np are of the form:

$$\alpha, \Gamma \Rightarrow \alpha.$$

The inference rules of G5np are of the form:

$$\frac{\Gamma \Rightarrow \alpha \quad \alpha, \Delta \Rightarrow \gamma}{(\Gamma, \Delta) \Rightarrow \gamma} \text{ (cut*)}$$

$$\begin{array}{c}
\frac{\alpha, \Gamma \Rightarrow \gamma}{(\alpha \wedge \beta, \Gamma) \Rightarrow \gamma} (\wedge\text{left1*}) \quad \frac{\beta, \Gamma \Rightarrow \gamma}{(\alpha \wedge \beta, \Gamma) \Rightarrow \gamma} (\wedge\text{left2*}) \\
\frac{\alpha, \beta, \Gamma \Rightarrow \gamma}{(\alpha \wedge \beta, \Gamma) \Rightarrow \gamma} (\wedge\text{left3*}) \quad \frac{\Gamma \Rightarrow \alpha \quad \Delta \Rightarrow \beta}{(\Gamma, \Delta) \Rightarrow \alpha \wedge \beta} (\wedge\text{right*}) \\
\frac{\alpha, \Gamma \Rightarrow \gamma \quad \beta, \Delta \Rightarrow \gamma}{(\alpha \vee \beta, \Gamma, \Delta) \Rightarrow \gamma} (\vee\text{left*}) \quad \frac{\Gamma \Rightarrow \alpha}{\Gamma \Rightarrow \alpha \vee \beta} (\vee\text{right1*}) \quad \frac{\Gamma \Rightarrow \beta}{\Gamma \Rightarrow \alpha \vee \beta} (\vee\text{right2*}) \\
\frac{\Gamma \Rightarrow \alpha \quad \beta, \Delta \Rightarrow \gamma}{(\alpha \rightarrow \beta, \Gamma, \Delta) \Rightarrow \gamma} (\rightarrow\text{left*}) \quad \frac{\alpha, \Gamma \Rightarrow \beta}{\Gamma \Rightarrow \alpha \rightarrow \beta} (\rightarrow\text{right1*}) \quad \frac{\Gamma \Rightarrow \beta}{\Gamma \Rightarrow \alpha \rightarrow \beta} (\rightarrow\text{right2*}) \\
\frac{\alpha, \Gamma \Rightarrow \gamma}{(\sim\sim\alpha, \Gamma) \Rightarrow \gamma} (\sim\text{left*}) \quad \frac{\Gamma \Rightarrow \alpha}{\Gamma \Rightarrow \sim\sim\alpha} (\sim\text{right*}) \\
\frac{\sim\alpha, \Gamma \Rightarrow \gamma \quad \sim\beta, \Delta \Rightarrow \gamma}{(\sim(\alpha \wedge \beta), \Gamma, \Delta) \Rightarrow \gamma} (\sim \wedge \text{left*}) \\
\frac{\Gamma \Rightarrow \sim\alpha}{\Gamma \Rightarrow \sim(\alpha \wedge \beta)} (\sim \wedge \text{right1*}) \quad \frac{\Gamma \Rightarrow \sim\beta}{\Gamma \Rightarrow \sim(\alpha \wedge \beta)} (\sim \wedge \text{right2*}) \\
\frac{\sim\alpha, \Gamma \Rightarrow \gamma}{(\sim(\alpha \vee \beta), \Gamma) \Rightarrow \gamma} (\sim \vee \text{left1*}) \quad \frac{\sim\beta, \Gamma \Rightarrow \gamma}{(\sim(\alpha \vee \beta), \Gamma) \Rightarrow \gamma} (\sim \vee \text{left2*}) \\
\frac{\sim\alpha, \sim\beta, \Gamma \Rightarrow \gamma}{(\sim(\alpha \vee \beta), \Gamma) \Rightarrow \gamma} (\sim \vee \text{left3*}) \quad \frac{\Gamma \Rightarrow \sim\alpha \quad \Delta \Rightarrow \sim\beta}{(\Gamma, \Delta) \Rightarrow \sim(\alpha \vee \beta)} (\sim \vee \text{right*}) \\
\frac{\alpha, \Gamma \Rightarrow \gamma}{(\sim(\alpha \rightarrow \beta), \Gamma) \Rightarrow \gamma} (\sim \rightarrow \text{left1*}) \quad \frac{\sim\beta, \Gamma \Rightarrow \gamma}{(\sim(\alpha \rightarrow \beta), \Gamma) \Rightarrow \gamma} (\sim \rightarrow \text{left2*}) \\
\frac{\alpha, \sim\beta, \Gamma \Rightarrow \gamma}{(\sim(\alpha \rightarrow \beta), \Gamma) \Rightarrow \gamma} (\sim \rightarrow \text{left3*}) \quad \frac{\Gamma \Rightarrow \alpha \quad \Delta \Rightarrow \sim\beta}{(\Gamma, \Delta) \Rightarrow \sim(\alpha \rightarrow \beta)} (\sim \rightarrow \text{right*}).
\end{array}$$

It is remarked that G5np is a modified extension of the system G5ip which is introduced by Troelstra and Schwichtenberg [21] in order to give the equivalence between Rip and G5ip. It is also remarked that the initial sequents of G5np are different from G5ip: G5ip has the initial sequents of the forms $\alpha \Rightarrow \alpha$ and $\perp \Rightarrow \alpha$, but G5np has the initial sequents of the form $\alpha, \Gamma \Rightarrow \alpha$.

Proposition 3.4 (Equivalence between G5np and G4np). (1) *If G5np $\vdash \Gamma \Rightarrow \gamma$, then G4np $\vdash \Gamma \Rightarrow \gamma$.* (2) *If G4np $\vdash \Gamma \Rightarrow \gamma$, then G5np $\vdash \Gamma' \Rightarrow \gamma$ for some $\Gamma' \subseteq \Gamma$.*

3.3 Equivalence between systems

An expression l_α , called the label of a formula α , means a literal which corresponds to a formula α . For a multiset $\Gamma \equiv \{\gamma_1, \dots, \gamma_n\}$ of formulas, l_Γ means the multiset $\{l_{\gamma_1}, \dots, l_{\gamma_n}\}$. For any atomic formula p , l_p and $l_{\sim p}$ are defined by p and $\sim p$, respectively. For any compound formula γ , the interpretation of l_γ is considered below.

Definition 3.5. For any formulas α and β , we define

$$\begin{aligned}
C_{\alpha \wedge \beta} &= \{ l_{\alpha \wedge \beta} \Rightarrow l_\alpha; \quad l_{\alpha \wedge \beta} \Rightarrow l_\beta; \quad l_\alpha, l_\beta \Rightarrow l_{\alpha \wedge \beta} \} \\
C_{\alpha \vee \beta} &= \{ l_{\alpha \vee \beta} \Rightarrow l_\alpha \vee l_\beta; \quad l_\alpha \Rightarrow l_{\alpha \vee \beta}; \quad l_\beta \Rightarrow l_{\alpha \vee \beta} \} \\
C_{\alpha \rightarrow \beta} &= \{ l_{\alpha \rightarrow \beta}, l_\alpha \Rightarrow l_\beta; \quad (l_\alpha \rightarrow l_\beta) \Rightarrow l_{\alpha \rightarrow \beta} \} \\
C_{\sim \sim \alpha} &= \{ l_{\sim \sim \alpha} \Rightarrow l_\alpha; \quad l_\alpha \Rightarrow l_{\sim \sim \alpha} \} \\
C_{\sim(\alpha \wedge \beta)} &= \{ l_{\sim(\alpha \wedge \beta)} \Rightarrow l_{\sim \alpha} \vee l_{\sim \beta}; \quad l_{\sim \alpha} \Rightarrow l_{\sim(\alpha \wedge \beta)}; \\
&\quad l_{\sim \beta} \Rightarrow l_{\sim(\alpha \wedge \beta)} \} \\
C_{\sim(\alpha \vee \beta)} &= \{ l_{\sim(\alpha \vee \beta)} \Rightarrow l_{\sim \alpha}; \quad l_{\sim(\alpha \vee \beta)} \Rightarrow l_{\sim \beta}; \\
&\quad l_{\sim \alpha}, l_{\sim \beta} \Rightarrow l_{\sim(\alpha \vee \beta)} \} \\
C_{\sim(\alpha \rightarrow \beta)} &= \{ l_{\sim(\alpha \rightarrow \beta)} \Rightarrow l_\alpha; \quad l_{\sim(\alpha \rightarrow \beta)} \Rightarrow l_{\sim \beta}; \\
&\quad l_\alpha, l_{\sim \beta} \Rightarrow l_{\sim(\alpha \rightarrow \beta)} \}
\end{aligned}$$

An expression $Nsub(\alpha)$ represents the set of all non-literal subformulas and non-literal negated-subformulas of a formula α . Let γ be an arbitrary non-literal formula. Then, we define

$$Cl(\gamma) = \bigcup \{ C_\delta \mid \delta \in Nsub(\gamma) \}.$$

Let Γ be a set $\{\gamma_1, \dots, \gamma_n\}$ ($n \geq 2$) of non-literal formulas. Then, we define

$$Cl(\Gamma) = Cl(\gamma_1) \cup \dots \cup Cl(\gamma_n).$$

It is remarked that $Cl(\gamma)$ is a set of intuitionistic clauses. Suppose that an expression $\alpha \leftrightarrow \beta$ means $\vdash \alpha \Rightarrow \beta$ and $\vdash \beta \Rightarrow \alpha$. Assuming $Cl(\gamma)$ is intended to address the interpretation of the label expression l_γ as $l_p \leftrightarrow p$, $l_{\sim p} \leftrightarrow \sim p$, $l_{\alpha \wedge \beta} \leftrightarrow (l_\alpha \wedge l_\beta)$, $l_{\alpha \vee \beta} \leftrightarrow (l_\alpha \vee l_\beta)$, $l_{\alpha \rightarrow \beta} \leftrightarrow (l_\alpha \rightarrow l_\beta)$, $l_{\sim \sim \alpha} \leftrightarrow l_\alpha$, $l_{\sim(\alpha \wedge \beta)} \leftrightarrow (l_{\sim \alpha} \vee l_{\sim \beta})$, $l_{\sim(\alpha \vee \beta)} \leftrightarrow (l_{\sim \alpha} \wedge l_{\sim \beta})$ and $l_{\sim(\alpha \rightarrow \beta)} \leftrightarrow (l_\alpha \wedge l_{\sim \beta})$. Such an interpretation is regarded as the label version of the embedding [5, 18, 22] discussed in the previous section.

Lemma 3.6. *If $G5np + Cl(\gamma) \vdash \Rightarrow l_\gamma$, then $G5np \vdash \Rightarrow \gamma$.*

Proof. Suppose $G5np + Cl(\gamma) \vdash \Rightarrow l_\gamma$. Let P be a proof of $\Rightarrow l_\gamma$ in $G5np + Cl(\gamma)$. If we substitute α for all the labels l_α everywhere in P , then l_γ becomes γ and all the sequents in $Cl(\gamma)$ appearing in P become $G5np$ -provable sequents. Therefore $G5np \vdash \Rightarrow \gamma$. \square

Lemma 3.7. *If $G5np \vdash \Gamma \Rightarrow \gamma$, then $Rnp + Cl(\Gamma, \gamma) \vdash l_\Gamma \Rightarrow l_\gamma$.*

Proof. By induction on a proof P of $\Gamma \Rightarrow \gamma$ in G5np. We distinguish the cases according to the last inference of P . We show some cases.

Case ($\sim\vee\text{left}3^*$): The last inference of P is of the form:

$$\frac{\sim\alpha, \sim\beta, \Sigma \Rightarrow \gamma}{(\sim(\alpha \vee \beta), \Sigma) \Rightarrow \gamma} (\sim\vee\text{left}3^*).$$

By the hypothesis of induction, we have

$$\text{Rnp} + \text{Cl}(\sim\alpha, \sim\beta, \Sigma, \gamma) \vdash l_{\sim\alpha}, l_{\sim\beta}, l_{\Sigma} \Rightarrow l_{\gamma}.$$

We then obtain:

$$\frac{l_{\sim(\alpha\vee\beta)} \Rightarrow l_{\sim\beta} \quad \frac{l_{\sim(\alpha\vee\beta)} \Rightarrow l_{\sim\alpha} \quad l_{\sim\alpha}, l_{\sim\beta}, l_{\Sigma} \Rightarrow l_{\gamma}}{(l_{\sim(\alpha\vee\beta)}, l_{\sim\beta}, l_{\Sigma}) \Rightarrow l_{\gamma}} (\text{resol})}{(l_{\sim(\alpha\vee\beta)}, l_{\Sigma}) \Rightarrow l_{\gamma}} (\text{resol}).$$

Since $\sim\alpha, \sim\beta \in \text{Nsub}(\sim(\alpha \vee \beta))$, we have $\text{Rnp} + \text{Cl}(\sim(\alpha \vee \beta), \Sigma, \gamma) \vdash l_{\sim(\alpha\vee\beta)}, l_{\Sigma} \Rightarrow l_{\gamma}$.

Case ($\sim\vee\text{right}^*$): The last inference of P is of the form:

$$\frac{\Sigma \Rightarrow \sim\alpha \quad \Delta \Rightarrow \sim\beta}{(\Sigma, \Delta) \Rightarrow \sim(\alpha \vee \beta)} (\sim\vee\text{right}^*).$$

By the hypothesis of induction, we have $\text{Rnp} + \text{Cl}(\Sigma, \sim\alpha) \vdash l_{\Sigma} \Rightarrow l_{\sim\alpha}$ and $\text{Rnp} + \text{Cl}(\Delta, \sim\beta) \vdash l_{\Delta} \Rightarrow l_{\sim\beta}$. We then obtain:

$$\frac{l_{\Delta} \Rightarrow l_{\sim\beta} \quad \frac{l_{\Sigma} \Rightarrow l_{\sim\alpha} \quad l_{\sim\alpha}, l_{\sim\beta} \Rightarrow l_{\sim(\alpha\vee\beta)}}{(l_{\Sigma}, l_{\sim\beta}) \Rightarrow l_{\sim(\alpha\vee\beta)}} (\text{resol})}{(l_{\Sigma}, l_{\Delta}) \Rightarrow l_{\sim(\alpha\vee\beta)}} (\text{resol}).$$

Case ($\sim\wedge\text{left}^*$): The last inference of P is of the form:

$$\frac{\sim\alpha, \Sigma \Rightarrow \gamma \quad \sim\beta, \Delta \Rightarrow \gamma}{(\sim(\alpha \wedge \beta), \Sigma, \Delta) \Rightarrow \gamma} (\sim\wedge\text{left}^*).$$

By the hypothesis of induction, we have $\text{Rnp} + \text{Cl}(\sim\alpha, \Sigma, \gamma) \vdash l_{\Sigma}, l_{\sim\alpha} \Rightarrow l_{\gamma}$ and $\text{Rnp} + \text{Cl}(\sim\beta, \Delta, \gamma) \vdash l_{\Delta}, l_{\sim\beta} \Rightarrow l_{\gamma}$. We then obtain:

$$\frac{l_{\sim(\alpha\wedge\beta)} \Rightarrow l_{\sim\alpha} \vee l_{\sim\beta} \quad l_{\sim(\alpha\wedge\beta)} \Rightarrow l_{\sim(\alpha\wedge\beta)} \quad l_{\Sigma}, l_{\sim\alpha} \Rightarrow l_{\gamma} \quad l_{\Delta}, l_{\sim\beta} \Rightarrow l_{\gamma}}{(l_{\sim(\alpha\wedge\beta)}, l_{\Sigma}, l_{\Delta}) \Rightarrow l_{\gamma}} (\vee\text{resol}).$$

Case (\rightarrow right1*): The last inference of P is of the form:

$$\frac{\alpha, \Delta \Rightarrow \beta}{\Delta \Rightarrow \alpha \rightarrow \beta} (\rightarrow\text{right1*}).$$

By the hypothesis of induction, we have $\text{Rnp} + Cl(\alpha, \Delta, \beta) \vdash l_\alpha, l_\Delta \Rightarrow l_\beta$. We then obtain:

$$\frac{l_{\alpha \rightarrow \beta} \Rightarrow l_{\alpha \rightarrow \beta} \quad l_\alpha, l_\Delta \Rightarrow l_\beta}{l_\Delta \Rightarrow l_{\alpha \rightarrow \beta}} (\rightarrow\text{resol}).$$

Case (\rightarrow left*): The last inference of P is of the form:

$$\frac{\Sigma \Rightarrow \alpha \quad \beta, \Delta \Rightarrow \gamma}{(\alpha \rightarrow \beta, \Sigma, \Delta) \Rightarrow \gamma} (\rightarrow\text{left*}).$$

By the hypothesis of induction, we have $\text{Rnp} + Cl(\Sigma, \alpha) \vdash l_\Sigma \Rightarrow l_\alpha$ and $\text{Rnp} + Cl(\beta, \Delta, \gamma) \vdash l_\beta, l_\Delta \Rightarrow l_\gamma$. We then obtain:

$$\frac{l_\Sigma \Rightarrow l_\alpha \quad \frac{l_{\alpha \rightarrow \beta}, l_\alpha \Rightarrow l_\beta \quad l_\beta, l_\Delta \Rightarrow l_\gamma}{(l_{\alpha \rightarrow \beta}, l_\alpha, l_\Delta) \Rightarrow l_\gamma} (\text{resol})}{(l_{\alpha \rightarrow \beta}, l_\Sigma, l_\Delta) \Rightarrow l_\gamma} (\text{resol}).$$

□

Lemma 3.8. *For any intuitionistic clause $\Gamma \Rightarrow P$, if $\text{Rnp} \vdash \Gamma \Rightarrow P$, then $\text{G5np} \vdash \Gamma \Rightarrow P$.*

Proof. By induction on a proof of $\Gamma \Rightarrow P$ in Rnp . □

Theorem 3.9 (Equivalence between Rnp and G5np). *$\text{G5np} \vdash \Rightarrow \gamma$ if and only if $\text{Rnp} + Cl(\gamma) \vdash \Rightarrow l_\gamma$.*

Proof. (\Rightarrow): By Lemma 3.7.

(\Leftarrow): Suppose $\text{Rnp} + Cl(\gamma) \vdash \Rightarrow l_\gamma$. By Lemma 3.8 with an obvious generalization, we have $\text{G5np} + Cl(\gamma) \vdash \Rightarrow l_\gamma$. We thus obtain $\text{G5np} \vdash \Rightarrow \gamma$ by Lemma 3.6. □

4. Type system

Prawitz's natural deduction system for N4, which was presented in [16]⁵, is obtained from the usual natural deduction system for positive intuitionistic logic by adding the following inference rules with respect to the strong negation connective \sim :

$$\begin{array}{c}
\frac{\alpha}{\sim\sim\alpha} \quad \frac{\sim\sim\alpha}{\alpha} \quad \frac{\alpha \quad \sim\beta}{\sim(\alpha \rightarrow \beta)} \quad \frac{\sim(\alpha \rightarrow \beta)}{\alpha} \quad \frac{\sim(\alpha \rightarrow \beta)}{\sim\beta} \\
\\
\frac{\sim\alpha}{\sim(\alpha \wedge \beta)} \quad \frac{\sim\beta}{\sim(\alpha \wedge \beta)} \quad \frac{\sim(\alpha \wedge \beta) \quad \begin{array}{c} [\sim\alpha] \\ \vdots \\ \gamma \end{array} \quad \begin{array}{c} [\sim\beta] \\ \vdots \\ \gamma \end{array}}{\gamma} \\
\\
\frac{\sim\alpha \quad \sim\beta}{\sim(\alpha \vee \beta)} \quad \frac{\sim(\alpha \vee \beta)}{\sim\alpha} \quad \frac{\sim(\alpha \vee \beta)}{\sim\beta}
\end{array}$$

which correspond to the Hilbert-style axiom schemes $\sim\sim\alpha \leftrightarrow \alpha$, $\sim(\alpha \rightarrow \beta) \leftrightarrow \alpha \wedge \sim\beta$, $\sim(\alpha \wedge \beta) \leftrightarrow \sim\alpha \vee \sim\beta$ and $\sim(\alpha \vee \beta) \leftrightarrow \sim\alpha \wedge \sim\beta$.

In this section, a new typed λ -calculus for N4 is introduced based on Prawitz's system via the Curry-Howard correspondence. The calculus presented is constructed using two new constructors neg and neg^{-1} in order to interpret the natural deduction rules that correspond to $\sim\sim\alpha \leftrightarrow \alpha$. For the other rules in the natural deduction, we do not have to introduce any new constructors, since $\sim(\alpha \rightarrow \beta)$ and $\sim(\alpha \vee \beta)$ are interpreted as the conjunction of α (or $\sim\alpha$) and $\sim\beta$, and also $\sim(\alpha \wedge \beta)$ is interpreted as the disjunction of $\sim\alpha$ and $\sim\beta$. The resulting system is thus a natural extension of the usual typed λ -calculus for positive intuitionistic logic, but has the non-standard consequence of non-unique typedness of terms.

Definition 4.1. Let always $i \in \{0, 1\}$. *Terms* r, s, t, \dots are inductively defined using variables x, y, x_0, x_1, \dots by the following grammar:

$$r ::= x \mid rr \mid \lambda y r \mid \text{inj}_i r \mid r(x_0.r, x_1.r) \mid \langle r, r \rangle \mid r \text{proj}_i \mid \text{neg } r \mid r \text{neg}^{-1}.$$

The variables y, x_0 and x_1 get bound in $\lambda y r$ and $r(x_0.r, x_1.r)$, respectively.

⁵Strictly speaking, Prawitz introduced a natural deduction system for Nelson's constructive logic N with strong negation [11]. Since N4 is a sublogic of N, such a natural deduction system can also be adapted for N4.

An expression $r\vec{s}$ with a possibly empty vector \vec{s} is used for $rs_1 \cdots s_n \equiv (\cdots(rs_1) \cdots s_n)$. The *substitution* of a term s for a variable x is defined as usual and denoted as $r_x[s]$ or $r[s/x]$. It is assumed that α -equal terms are equal.

Definition 4.2. *Types* $\alpha, \beta, \gamma \dots$ are inductively defined by the following grammar from basic types b, c, d, \dots :

$$\alpha ::= b \mid \alpha \rightarrow \alpha \mid \alpha \vee \alpha \mid \alpha \wedge \alpha \mid \sim \alpha.$$

Definition 4.3. For an assignment $x : \alpha$ of a type α to a variable x , the following rules give the typable terms and their types:

$$\begin{array}{c} \frac{r : \alpha \rightarrow \beta \quad s : \alpha}{rs : \beta} (\rightarrow E) \quad \frac{x : \alpha \quad r : \beta}{\lambda x r : \alpha \rightarrow \beta} (\rightarrow I) \\ \\ \frac{r : \alpha_i}{\text{inj}_i r : \alpha_0 \vee \alpha_1} (\vee I) \quad \frac{r : \alpha_0 \vee \alpha_1 \quad s_0 : \beta \quad s_1 : \beta}{r(x_0^{\alpha_0}.s_0, x_1^{\alpha_1}.s_1) : \beta} (\vee E) \\ \\ \frac{r : \alpha_0 \quad s : \alpha_1}{\langle r, s \rangle : \alpha_0 \wedge \alpha_1} (\wedge I) \quad \frac{r : \alpha_0 \wedge \alpha_1}{r \text{ proj}_i : \alpha_i} (\wedge E) \\ \\ \frac{r : \alpha}{\text{neg } r : \sim \alpha} (\sim I) \quad \frac{r : \sim \alpha}{r \text{ neg}^{-1} : \alpha} (\sim E) \\ \\ \frac{r : \alpha \quad s : \sim \beta}{\langle r, s \rangle : \sim(\alpha \rightarrow \beta)} (\sim \rightarrow I) \quad \frac{r : \sim(\alpha \rightarrow \beta)}{r \text{ proj}_0 : \alpha} (\sim \rightarrow E1) \quad \frac{r : \sim(\alpha \rightarrow \beta)}{r \text{ proj}_1 : \sim \beta} (\sim \rightarrow E2) \\ \\ \frac{r : \sim \alpha_i}{\text{inj}_i r : \sim(\alpha_0 \wedge \alpha_1)} (\sim \wedge I) \quad \frac{r : \sim(\alpha_0 \wedge \alpha_1) \quad s_0 : \beta \quad s_1 : \beta}{r(x_0^{\sim \alpha_0}.s_0, x_1^{\sim \alpha_1}.s_1) : \beta} (\sim \wedge E) \\ \\ \frac{r : \sim \alpha_0 \quad s : \sim \alpha_1}{\langle r, s \rangle : \sim(\alpha_0 \vee \alpha_1)} (\sim \vee I) \quad \frac{r : \sim(\alpha_0 \vee \alpha_1)}{r \text{ proj}_i : \sim \alpha_i} (\sim \vee E). \end{array}$$

The superscripts of variables in the rules $(\vee E)$ and $(\sim \wedge E)$ denote the type assignments for those variables. An expression $r : \alpha$ is also denoted as r^α .

It is remarked that the typing rules derive the non-standard consequence of non-unique typedness of terms. For example, $\langle r^\alpha, s^{\sim \beta} \rangle$ has two types $\sim(\alpha \rightarrow \beta)$ and $\alpha \wedge \sim \beta$, a fact which corresponds to the axiom scheme $\sim(\alpha \rightarrow \beta) \leftrightarrow \alpha \wedge \sim \beta$.

It is also remarked that neg and neg^{-1} are very similar to \langle, \rangle and proj_i , respectively, and hence in the strong normalization proof presented, the cases for neg and neg^{-1} can be treated in the same way as that for \langle, \rangle and proj_i .

In the following discussion, we treat only on typable terms.

Definition 4.4. *Eliminations* R, S, T, \dots are defined by the following grammar:⁶

$$R ::= r \mid (x_0.r, x_1.r) \mid \text{proj}_i \mid \text{neg}^{-1}.$$

An expression $(x_0.s_0, x_1.s_1)_x[t]$ is used for the capture-free substitution $(x_0.s_0[t/x], x_1.s_1[t/x])$. A similar vector expression \vec{R} is also adopted for eliminations. A square bracket notion $[...]$ is used for optional syntax elements.

Definition 4.5. The set TE of typed terms is inductively defined by the following grammar:

$$\begin{aligned} \text{TE} \ni r ::= & \\ & x \mid x\vec{r}[R] \mid \lambda xr \mid \text{inj}_i r \mid \langle r, r \rangle \mid \text{neg } r \mid (\lambda xr)r\vec{R} \mid x\vec{r}(x_0.r, x_1.r)R\vec{R} \mid \\ & (\text{inj}_i r)(x_0.r, x_1.r)\vec{R} \mid \langle r, r \rangle \text{proj}_i \vec{R} \mid (\text{neg } r) \text{neg}^{-1} \vec{R}. \end{aligned}$$

The set NF of typed terms in normal forms is inductively defined by the following grammar:

$$\text{NF} \ni r ::= x \mid x\vec{r}[(x_0.r, x_1.r)] \mid \lambda xr \mid \text{inj}_i r \mid \langle r, r \rangle \mid \text{neg } r.$$

An expression $FV(S)$ denotes the set of all free variables in S .

Definition 4.6. The reduction relation \triangleright on TE is defined by

$$\begin{aligned} (\rightarrow\beta): & (\lambda xr)s \triangleright r_x[s], \\ (\vee\beta): & (\text{inj}_i r)(x_0.s_0, x_1.s_1) \triangleright s_i[r/x_i], \\ (\wedge\beta): & \langle r_0, r_1 \rangle \text{proj}_i \triangleright r_i, \\ (\sim\beta): & (\text{neg } r) \text{neg}^{-1} \triangleright r, \\ (\text{Perm}): & r(x_0.s_0, x_1.s_1)S \triangleright r(x_0.s_0S, x_1.s_1S) \quad x_i \notin FV(S), \\ (\text{Comp}): & \text{if } r \triangleright r', \text{ then } sr \triangleright sr', rS \triangleright r'S, \lambda xr \triangleright \lambda xr', \\ & \text{inj}_i r \triangleright \text{inj}_i r', s(x.r, y.t) \triangleright s(x.r', y.t), s(y.t, x.r) \triangleright s(y.t, x.r'), \\ & \langle r, s \rangle \triangleright \langle r', s \rangle, \langle s, r \rangle \triangleright \langle s, r' \rangle, \text{neg } r \triangleright \text{neg } r'. \end{aligned}$$

Definition 4.7. An expression $r \Downarrow$ (r is strongly normalizable) means that there is no infinite reduction sequence starting with r . The set WF is defined by $\{r \mid r \Downarrow\}$.

⁶Using this notion, the permutative conversions can uniformly be presented as (Perm) in the definition of reductions.

Definition 4.8. The set SN is inductively defined by the following rules where $(x.r, y.t) \in \text{SN}$ denotes an abbreviation for $r, t \in \text{SN}$.

$$\begin{array}{c}
\frac{}{x \in \text{SN}} \text{ (Var}_0\text{)} \quad \frac{\vec{r}[R] \in \text{SN}}{x\vec{r}[R] \in \text{SN}} \text{ (Var)} \quad \frac{x\vec{r}(x_0.s_0S, x_1.s_1S)\vec{R} \in \text{SN}}{x\vec{r}(x_0.s_0, x_1.s_1)S\vec{R} \in \text{SN}} \text{ (Perm}^{-1}\text{)} \\
\frac{r \in \text{SN}}{\lambda x r \in \text{SN}} \text{ (\lambda)} \quad \frac{r \in \text{SN}}{\text{inj}_i r \in \text{SN}} \text{ (Inj)} \quad \frac{r_0, r_1 \in \text{SN}}{\langle r_0, r_1 \rangle \in \text{SN}} \text{ (Pair)} \quad \frac{r \in \text{SN}}{\text{neg } r \in \text{SN}} \text{ (Neg)} \\
\frac{r_x[s]\vec{S} \in \text{SN} \quad s \in \text{SN}}{(\lambda x r) s \vec{S} \in \text{SN}} \text{ (\beta}\rightarrow\text{)} \quad \frac{r_0\vec{S}, r_1\vec{S} \in \text{SN}}{\langle r_0, r_1 \rangle \text{ proj}_i \vec{S} \in \text{SN}} \text{ (\beta}\wedge\text{)} \\
\frac{s_i[r/x_i]\vec{S} \in \text{SN} \quad s_{1-i}\vec{S} \in \text{SN} \quad r \in \text{SN}}{(\text{inj}_i r)(x_0.s_0, x_1.s_1)\vec{S} \in \text{SN}} \text{ (\beta}\vee\text{)} \quad \frac{r\vec{S} \in \text{SN}}{(\text{neg } r) \text{ neg}^{-1} \vec{S} \in \text{SN}} \text{ (\beta}\sim\text{)}.
\end{array}$$

The rule (Perm^{-1}) has the proviso $x_i \notin FV(S)$.

In the following, we give only a sketch of the strong normalization proof, since the proof is almost the same as the one of [6].

Lemma 4.9. $\text{SN} = \text{WF}$.

Lemma 4.10. *If $r(x_0.s_0S, x_1.s_1S)\vec{R} \in \text{SN}$, then $r(x_0.s_0, x_1.s_1)S\vec{R} \in \text{SN}$.*

Using Lemma 4.10, we can prove the following lemma.

Lemma 4.11. *For any type α , for any $r \in \text{SN}$,*

- (1) *if $s^\alpha \in \text{SN}$, then $rs \in \text{SN}$;*
- (2) *if $r : \alpha$ where $\alpha \in \{\alpha_0 \vee \alpha_1, \sim(\alpha_0 \wedge \alpha_1)\}$ and $s_0^{\delta_0}, s_1^{\delta_1} \in \text{SN}$ where $\langle \delta_0, \delta_1 \rangle \in \{\langle \alpha_0, \alpha_1 \rangle, \langle \sim\alpha_0, \sim\alpha_1 \rangle\}$, then $r(x_0.s_0, x_1.s_1) \in \text{SN}$;*
- (3) *if $s^\alpha \in \text{SN}$, then $r_x[s] \in \text{SN}$.*

Proof. By simultaneous induction on α , side induction on $r \in \text{SN}$. We distinguish the cases according to $r \in \text{SN}$. We always first prove (1) (2) in parallel, and later infer (3), possibly with the help of (2). \square

It is remarked that by Definition 4.8, the following conditions hold:

- (4) *if $\alpha \in \{\beta_0 \wedge \beta_1, \sim(\beta_0 \rightarrow \beta_1), \sim(\beta_0 \vee \beta_1)\}$ and $r^{\delta_0}, s^{\delta_1} \in \text{SN}$ where $\langle \delta_0, \delta_1 \rangle \in \{\langle \beta_0, \beta_1 \rangle, \langle \beta_0, \sim\beta_1 \rangle, \langle \sim\beta_0, \sim\beta_1 \rangle\}$, then $\langle r, s \rangle^\alpha \in \text{SN}$, and*
- (5) *if $r^\alpha \in \text{SN}$, then $(\text{neg } r) \in \text{SN}$.*

Theorem 4.12 (Strong normalization). *All typed terms are strongly normalizable.*

Proof. For any term r , we can show $r \in \text{SN}$ by induction on the structure of r . In order to show this, Lemma 4.11 is used, e.g. the case $r \equiv st$ is shown by using Lemma 4.11 (1). By Lemma 4.9, we obtain $r \in \text{WF}$, i.e. $r \Downarrow$. \square

Acknowledgments. This research was supported by the Alexander von Humboldt Foundation. I am grateful to the Foundation for providing excellent working conditions and generous support of this research. This work was partially supported by the Japanese Ministry of Education, Culture, Sports, Science and Technology, Grant-in-Aid for Young Scientists (B) 20700015, 2008.

References

- [1] A. Almkudad and D. Nelson, *Constructible falsity and inexact predicates*, Journal of Symbolic Logic **49** (1984), pp. 231–233.
- [2] R. Dyckhoff, *Contraction-free sequent calculi for intuitionistic logic*, Journal of Symbolic Logic **57** (1992), pp. 795–807.
- [3] R. Dyckhoff, and S. Negri, *Admissibility of structural rules for contraction-free systems of intuitionistic logic*, Journal of Symbolic Logic **65** (2000), pp. 1499–1515.
- [4] R. Dyckhoff, and S. Negri, *Admissibility of structural rules for extensions of contraction-free sequent calculi*, Logic Journal of the IGPL **9** (4) (2001), pp. 573–580.
- [5] Y. Gurevich, *Intuitionistic logic with strong negation*, Studia Logica **36** (1977), pp. 49–59.
- [6] F. Joachimski and R. Matthes, *Short proofs of normalization for the simply-typed λ -calculus, permutative conversions and Gödel’s T*, Archive for Mathematical Logic **42** (2003), 59–87. R. Matthes, Erratum, 2 pages, 2004.
- [7] N. Kamide, *Natural deduction systems for Nelson’s paraconsistent logic and its neighbors*, Journal of Applied Non-Classical Logics **15** (4) (2005), pp. 405–435.
- [8] E.G.K. López-Escobar, *em Refutability and elementary number theory*, Indagationes Mathematicae **34** (1972), pp. 362–374.
- [9] G. Mints, *Gentzen-type systems and resolution rules. Part I. Propositional logic*, Lecture Notes in Computer Science **417**, pp. 198–231.
- [10] S. Negri and J. von Plato, *Structural proof theory*, Cambridge University Press, 2001.

- [11] D. Nelson, *Constructible falsity*, Journal of Symbolic Logic **14** (1949), pp. 16–26.
- [12] S. P. Odintsov, *The class of extensions of Nelson's paraconsistent logic*, Studia Logica **9** (4) (2005), pp. 573–580.
- [13] S. P. Odintsov and H. Wansing, *Inconsistency-tolerant description logic: motivation and basic systems*, In V. Hendricks and J. Malinowski eds., Trends in Logic, 50 Years of Studia Logica, Kluwer Academic Publishers, 2003, pp. 301–335.
- [14] D. Pearce, *Reasoning with negative information, II: hard negation, strong negation and logic programs*, Lecture Notes in Computer Science **619** (1992), pp. 63–79.
- [15] D. Pearce and A. Valverde, *A first order nonmonotonic extension of constructive logic*, Studia Logica **80** (2005), pp. 321–346.
- [16] D. Prawitz, Natural deduction: a proof-theoretical study, Almqvist and Wiksell, Stockholm, 1965.
- [17] G. Priest, *Paraconsistent logic*, in Handbook of Philosophical Logic, 2nd edition, vol. 6, edited by D. M. Gabbay and F. Guenther, Kluwer Academic Publishers, 2002, pp. 287–393.
- [18] W. Rautenberg, Klassische und nicht-klassische Aussagenlogik, Vieweg, Braunschweig, 1979.
- [19] P. Schroeder-Heister, *Generalized rules, direct negation, and definitional reflection*, Proceedings of the 1st World Congress on Universal Logic (UNILog 2005), 2 pages, 2005.
- [20] A. M. Tamminga and K. Tanaka, *A natural deduction system for first degree entailment*, Notre Dame Journal of Formal Logic **40** (2) (1999), 258–272.
- [21] A. S. Troelstra and H. Schwichtenberg, Basic proof theory, Cambridge University Press, 1996.
- [22] N.N. Vorob'ev, *A constructive propositional calculus with strong negation (in Russian)*, Doklady Akademii Nauk SSR **85** (1952), pp. 465–468.
- [23] G. Wagner, *Logic programming with strong negation and inexact predicates*, Journal of Logic and Computation **1** (6) (1991), pp. 835–859.
- [24] H. Wansing, *The logic of information structures*, Lecture Notes in Artificial Intelligence **681** (1993), 163 pages.

Waseda Institute for Advanced Study,
1-6-1 Nishi Waseda, Shinjuku-ku,
Tokyo 169-8050, JAPAN.
logician-kamide@aoni.waseda.jp